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Full Marks
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TSt up to the prescribed nu
rémaining ones ignored, Hars

r in English or in Bengali
one and the same language.

the following five groups,

ormation, prepare Trading and
the year ended 31st March, 201%

2ebit Balances k. Credit Balances R,
Plant & Machinery : =i
Depreciation on Plant & 3222 :LrE::iia;Etur sl
Machinery n 300
Repairs to Plant 520 Sales 49800
Wages 5400 Bank Overdraft 760
Salaries 2100 Salaries Outstanding 400
Income Tax of Mr., X 100 Provision for Bad Debt 1000
Cash in hand & at Bank gnp Ellls Payable 1600
Land & Building 14900 Discount on Purchases 708
Depreciation of building 500 Creditors 6252
Purchases 25000
Accrued Income 300
Bills Receivable 3000
Bad Debts 200
Debtore 7000
Opening Stocks 7400

?EEEE 70820
== sEm=E=

additional Information t-

(1)
(11)

(111)

(1iv)

(V)

{vi)

Stock on 31st March, 20

ks, 6500
Write off furtherﬁi on éubturn.

for Bad Debts at
Goods costing s, 1000/~ we
10th March,
actual sales.

ms.240 /- paid as ren
account and were in

i
Ggeneral Manager
after charging the c©

before cha

2015 on sale or

r is ko

ars of 1
articulars o

(a) From 'th'tglﬁmﬂ uring Account

Raw Materials

re sent to customers for
return basis. This was

s to be given commi
mnigsion of the

{ven commiss
li: s?m of Genera

s, 3000/-, work=in-pr
1 M, 300/=,

15 was M&.6000/=,
- for Bad Debt & maintain a provision

ks, 1200/= on
recorded as

t of the of fice were debited to landlord

cluded in list of debtors.
saion at 10% of net profit

Works Manager and his own,

{on at 12% of net profit
1 Manager & his own.

200

12+12+16

Ts B tment s,
balances and adjus e

C Led, for the year e
ress Rs,7000/=

R ower & Fuel B, Machinery (Factory) -
::grm fuqi- #.6000 /-, Carrige Inwards #&s,750/-,
/. for factory premises) is.840 *n'ﬂh =
—%ﬁ;i!nﬂhﬁnt Raw Materials) R.68,500/=.
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2.

3.

Additional Information -

i Stock on 31.3.15 1 Raw Materials Rs.1000/-, Work-in-or
S R.5500/- (Worke cost), / Progress .

(11) Materials purchased for fs,2000/- wrongly recorded in Har;hj_ntr?
(1ii) Provide depreciation on Machinery @ 10% per annum. ‘

(b) There was a difference in Trial Balance of Mr, X, a Trader op

3lst December, 2015 and the difference in books was carried gq,
Suspense Account & the books were closed, Subsequently the -

following errors were located :-

(1) Rs,2296 /- paid for Repairs to Motor Car was debited to
Motor Car Account as Rs,696/-,

(11) A sale of f5,1400/- to Jayanta Das entered in the Saleg
Book as &,2120/-,

(111) A cash discount of R,800/- received was entered in the
Cash Book, but was not posted in the ledger.

(iv) R®.400/- being Purchase Returns posted to the debit of
Purchase Account,

(v) The purchase of a machine on 1st April, 2015 for Ps.24,000/
was entered in the Purchases Book.

(vi) While carrying forward the total of one page in Mr, B'g
Account , the amount of ®,1000/- was written on the credit
side instead of the debit gide,

(vil) A cheque of ®.6192/-, received from Mr. E (after allowing 2
discount of R5.92/-) was endorsed to Mr., D in full settlement
of Rs.7000/-. The cheque was finally dishonoured but no
entries were passed in the books. .

Give the journal entries to rect 1fy the above and prepare the

Suspense Account, 18 4+ U

(a) What is the need of Aceount ing Information ?
(b} Explain the importance of generally accepted Accounting Principles

(c) A Firm purchased on lst January,1999 a certain machinery for
%.9,70,000/= and spent Rs.30,000/= on its erection. On lst July,
1999 additional machinery costing fs,5,00,000/- was acquired. On
lst July, 2001 the machinery purchased on 1st January, 1999 having
become obsoclete was auctioned for Rs.4,00,000/- and on the same &&
a new machinery was purchased at a cost of s, 7,50,000/=,

Depreciation was provided far annual on 31st December @ 10% p.ﬂ-miL
on the original cost of the asset. Tn 2002, however the firm cha

to depreciation method of WElting off 20% p.a. on the written do¥
value from effective lst January, 1999, Show Machinery Account 3f
it would stand at the end of each year from 1999 to 2002,

(d) X who was closing his books on 31st March, 2006, failed to take
the actual stock, which he 414 on 9th April, 2006, when it was "
ascertained by him to be worth R,25,000/-, It was found that salf
are entered in the sales book on the same day of despatch and o
return inwards in the returns book as and when goods were recel?
back. Purchases are entered in the Purchase Day Book once the and
invoice are received. It was found that sales between 31.3.06
9.4.06 as per the Sales Day Book are ps, 1720 /-, Purchases as I:':f

hase day book between 31.3.06 and 9,4.06 are R, 120/-, ou
Eﬁ:’ée qnﬂdayammnt ing to B,50/~ were not :Enaiuaa dntil ageer tM*
stock was taken. Goods invoiced during the month of March,
but received only on 4.4.06 was amounting to Rs,100/-. Gross ,
rate is 33¥3X on cost, Ascertain the value of stock as on m
6+ '
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GROUP . p
SE Sl LoWINg IRCKTENe BAlance Bheats oF A& B Ltd. as on 31,309
Li.bilititﬂ A t N i
Particulars A Ltd. B Led 2
: : Part Ltd,
Share Capital Bui?giicularu 2. B Ltd,
(Equity shares @ . 10/-) Soo000 100000 ¥

General Reserve

200000 100000
Plant & Machi
200000 60000 achinery 230000 100000

P/L Afe 120000 140000 ~estnents ;
8. Creditors 80000 s0000 ?Eﬂg.gﬂé? Mace 80000 --
Bills Payable 20000 20000 oOthers 30000 10000
Stock 140000 40000
Debtors 160000 40000
Bank 110000 90000
950000 380000 950000

950000 380000

SEDEEE pEe=

Additional Informatien : Sineo

EEESES S aSsoEE s
=

(1) A Ltd, acgquired

(11) B Ltd, declared on 17200,

(1ii1) Further on 1.8.08, B Ltd.

8000 equity shares in B Led, on 1.4,07,. On that
date BE Ltd, had Rs.40000/= in P/1 Afc & R.40000/- in General
Reserve,

10% dividend for 2006=07 and 15%
dividend on 1.6.08 far 2007-0B, A Ltd, credited its share of
both the dividends to investment in B Ltd, A/e.

declared bonus dividend in the ratio
for four held out of balance in General Reserve on 1.4.07.

Though A Ltd, rightly treated its share of bonus dividend in

its books of account, B Ltd, has not get given effect to the
bonus dividend in its account s,

(iv) on 1.4.08, B Lt4d, purchased Flant & Machinery for Bs. 50000 /=

(v)

from A Ltd,, which yielded a profit of 20% on selling price to
A Ltd. B Ltd. charges 10% depreclation on its Plant & Machinery.

The ehtire bills payable of B Ltd, represents bills accepted in
favour of A Ltd,

(vi) Liability for expenses not given effect in the books of A Ltd,

amounts to Rs,25000/-,

Prepare consclidated Balance Sheet in the bookes of A Led., on o
3113-2qng+

5. (a) General Trading Co. Ltd, invited application for 400000 equity

shares of fs,10/- each on the following terms :-

ication on 31,1.15 ¢ ®.5/= per share
et ai?;tz:ht on 28.2.15 t M.3/- per share (including
et e U Re,l/- per share as Premium)
payable on final call on 30.6,15 t K.3/- per share,

0 shares were received, It was decided to
:E?ﬁ:a:{?;:rf:ﬁt EEEQEEE applicants far 20,000 shares ; to allot

for 80,000 shares ; to allot the balance
el tnifzgi:c:E::aa, pru;rntl among other applicants ; tg
Efiﬁﬁ:.a::.“;. application money in part payment of allotmen
warod been allotted on pro-rata
er to whom shares had -]

Ll .hlr.i?:édtn pay the amount due on :ﬁlutn.n:r:gd on u:ii-::ﬂd
R;:izugijharnl were forfeited, 300 of these s were
on 31.10,15 at .9/~ per share. 'y o

al entries in the books of the Company, prepare ;
Show seer s eent the Balance Sheet. et
Book and p ) P T 7S
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(b) A Company issued 12% debentures of R,400000/- at 10% ﬂi!l:mnt.

redeemable at par. The debentures are to be redeemed by ann
ﬂrauings in the following manner 3= s

Year end Face value of Debentures Redeemed {h:l
2 40,000
3 BO,000
4 1,200,000
5 1.60,000

Pass Journal entries for issue of Debentures and ledger acecount
of discounts on Debentures for 5> years in the books of the Compap,

() Explain the meaning and 1mportance of Capital Redempt 1ion HEEEH'I

20414,
GROUP - ¢

6. (a) p Ltd., was 3 types of materials A, B & C for production of X, the
£final product. From the following monthly data calculate for eaeh

Component 1- Re order level ; Minimum level } Maximum level ang
Average Stock level,

A B c
Normal usage (Units) 200 150 180
Minimum usage (Units) 100 100 90
Maximum usage (Units) 300 250 270
Re order quagntit? (Units) 750 900 720
Re order period (Month) 2 ko3 3 to 4 2 Eana

(b) From the fol lowing particulars compute Material price Variance,

Material Usage Variance, Labour Rate Variance, Idle Time Var iance
and Labour ngii:iEnr_'y Variance. 1 tonne of material input yieldsa

standard output of 100000 units. The standard price of material

is B,20/- per kg. Number of employees engaged is 200. The standard
wage rate per employee per day is 5.6 /=, The standard daily outpat

per employee is 100 unit s, The actual quantity of material used is

10 tonnes and the actual price paid is #s,21/- per kg. Actual outpul
obtained is 900000 units, Actual number of days worked is 50 and
actual wage rate paid is R5.6.50/= per day, 1dle time paid for and

included in above time 1igs half day, 20 +

7. (a) A Ltd. furnishegd the following information -

2014 - '15 2015 - '16
Sales (ms.10/- p.u.) 200000 250000
Profit 30000 20000

Calculate : P/V Ratio ; Break even point ; total variable cost fof

each year ; gsales required to earn a profit of Rs.60000/- ; Fl‘*‘-‘ﬂh
& Loss when sales are B,100000/~ ; margin of safety when profit
Rs.B0000 /- ; During 2016-'17, due to increase in cost, the variabl
cost 1s expected to rige to &5.7/- p.u., and fixed cost to Rs,55000/"
If selling price cannot be increased, what will be the amount to
maintain the profit of 2015 - '16 7

(b) Explain t he following types of cost i-

(1) Incrementa) cost : (ii) Replacement cost ; i
(111) Joi 243
olnt cost and (iv) Sunk cost,
GROUP - D

ant

(a) Mr, steve Lucas a German National, works in a German Company 3
was temporari)y posted in India during the year 2009-'10. H'.; e

to India for the f£irst time on 18.8.09 and thereafter return 16

111*

gormany On 24.8.12, He is again posted in India and from was
for 2 years, During the fingncil year 2015-'16, his 'g“iﬂiﬂ_’
INR 300000 P.m. Determine his residential status for the P ment

s
Jear 2015-'16 and the taxable salary for the relevant Assess™

Year, | =
contd:




9.

{h] Hr. .A 15 a -p 5_

(a)

(b)

(a)
(b)
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by
FeCeives ropy o to8Man, Durip
his reg 9 the preyioy !
ldence S year 2015-'16, he

® Propertq
(1) The Constr ©% and uses another house faor

N December i of a j

er, 2 Ol se
One is ja¢ tﬂﬂﬁ. The hﬂunnpggﬁiggg At Kolkata was completed
PUrpose ap 8 of 2 flats (equal sigej

A4 rent
Similar ;Egtth;hnther s g:théignﬂf— P.M. for residential
h'lﬂaﬂﬂﬂlf" ; € net mu.nicj_r_,u]_ for tenant s business at a

land reven
ue gs, 50/
charges B-Eﬂﬂnjf?f ! cost gf Lepairs Re.1000 /- ; collection

(11) Constr
MCtion of
1.4 15 Tt anot her Propert
.15, wa Y at Kolk
h.lﬂnﬂf- S uFlet out for rFesidential pﬂﬁsn::’afﬂgpizﬁfdnin
: Giﬂffigsr:nt of the house {s ’5.20,400/- ;
unicipal tax @ 10% of minicipal vajue.
! current {nterest on loan

(1i1)House Property y

;E:f:;u:;:ﬂ in 2008, The Minicipal valuation is R.25,000/-.
relevant Previous year, phe aid m,2500/- as muni-

cipal tax and Re -
T «8000 /=~ as interest on oan taken for construc-

Compute the income from House Property for the Assessment
Year 2016 - 2017, 10 + 30

Fxp]aiq the rules of Inter head and Intra head set off and carry
Iorward in details,

Mr. X was the employee of Mg, XEZo private firm in Mumbai. He
1s below sixty years of age. The firm provided accomodation in a

flat at concessional rate for ten months and in a hotel for two
months (with valid PAN furnished to employer), From the following
particulars, calculate his total income for Assessment Year 2016-
2017, Salary &,700000/-, Bonus R.140000/-, Free Gas, electricity,
water, etc. (Actual Bills paid by Company) :- Rs.40000/-, Flat at a
concessional rate (for ten months) @ .36000/- per month t=fs, 360000 /=,
total rent paid by employer (for two months) = ks.100000 /=,

from employee 1= Rs5,60000/-, cost of furniture -
gegaﬂgggﬁzfrﬁbscriptiﬁl to ULIP : Rs,250000/-, Life Insurance

Premium : R,10000/-, contribution to recognized P.F. i Rs.42000/-.
Alsoc calculate the total tax payable by him, 10 + 30

GROUP - E

Explain the registration process of a dealer under CST Act, 1956,
xpla

-5 e sales made by X Ltd, of
During 2ﬂ15'2n§g'UEE?-?riﬁghéS;EECEﬁﬁ:‘al Sales Tax ig not shown
Ajmer is Bs.47, Eolluwinq information 1s available from the records
separately, the - The Company sells machinery which makes copper
of the CompanY & | "eold in the Rajasthan State, VAT rate is 7%
wire coils. I 1 tax ® 10% of VAT).

additiona Inter state sale Inter state sale
(pias with C. Form(®s.) without C.Form(ns.)

29,50,000 18,36,000
Sales i
{I;:ni:u:ludus the following ¢ 12,75,000 l,}g.ggg
= EXcifht(not being shown ssparately) ;g:ggg 17,000
- IEelan meparately) 1 19,700
- Freight (shown 527563 1,06.000
cost of insta separ o the 15,200
3 ce, charges £© cover 10,500
- Ins e selle o ing - .
nge et
rE;ﬂﬁlg of the Pt

. - P. T. 0.
1 I o e A 1 ‘..1..1'.".1-.'...
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Inter state sale

Inter stat
i Inter ot ate gale
hﬁnfgllming items havye not = s c'rurm{!zl
educted to calcul ate
9ross saleg turn over 4.

= Trade discount
credit note on g?fg?qﬁ?¥ way of

18,000 20,00
- G : i .
0ods returned within ¢ months 2,00,000 1,00,000
- z;fientive bonus for additional
e
25,000 20,000

As
certain the sales turn over and Central Sales Tax payable.

(e)X Lea
I:IE‘L5.'___c»*::rn.sll:rm:’f:-..=~. a building for A Ltd., for agreed consideration

fores, It maintains sufficient records to qualify the laboyy

and other service charqes. The f
- ollowli a
records of X Ltd. - ng data 1s noted from the

Total contract price (excluding VAT) t- ms,2,50,00,000/~ :

#

Cement, steel, wood, stone and other material purchased for
construction of building (inclusive of VAT @ 14.5%) (VAT is shown

Separately in invoices) :1- Rs.47,25,000/- ; Labour charqges paid for
the execution of the contract - fs.56,00,000/= ; other service

charges paid for the execution of the contract :- R.28,00,000/- ;

cost of consumables used not involving transfer of property in
goods :- B5,.14,00,000/-, Profit element of consumables are transferred
by a trader :- Bs.1,40,000/=.

X also purchased a plant for use in the contract for Rs.29,12,000/=

(inclusive of VAT @ 5%) . In the VAT invoice relating to the same,
VAT is charged @ 5% separately (100% input tax crec’l?t is available on

capital goods in the State) ., Calculate the VAT liability,
5 + 17 + 17
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